CARDIO THORACIC & NEURO SCIENCES CENTRE ALL INDIA INSTITUTE OF MEDICAL SCIENCES

Dated: 02.03.2015

Subject: Purchase of Accessories for Molecular Resonance Generator (Vesalius) from M/s Vishal Distributors authorized distributor of M/s Telea Electronic Engineering on proprietary basis for the department of Neurosurgery, AIIMS.

The requirement of above mentioned item received from Department of Neurosurgery, CNC. The competent authority recommended to purchase above mentioned item as proprietary item of M/s Telea Electronic Engineering. The Proforma Invoice submitted by the department of Neurosurgery & PAC certificate provided by the department are attached & uploaded on website.

The above documents are being uploaded for open information to submit objections, comments, if any, from any manufacturer regarding proprietary nature of the equipment/items within 15 days from the date of issue/uploading of the notification. The comments should be sent to Asstt. Stores Officer, C.N. Centre at AIIMS on or before **18.03.2015 up to 4:30 P.M.**, failing which it will be presumed that any other vendor is having no comment to offer and case will be decided on merits.

Yours faithfully

(Asstt. Stores Officer, CNC)

Encl: Related documents enclosed.

- 1. PAC Certificated enclosed.
- 2. Proforma Invoice

DEPARTMENT OF NEUROSURGERY CARDIO-THORACI AND NEUROS-SCIENCES CENTRE ALL INDIA INSTITUTE OF MEDICAL SCIENCES

Dated 02/02/2015

Purchase of Accessories for Molecular Resonance Generator (Vesalius)

ा**०भा०आ०**सं०

A.I.I.M.S.

Sub: -Neurosurgery Store has received a requirement letter from Sr. Raj Rathi, Sister In-charge, NSOT for the purchase of "Accessories for Molecular Resonance Generator (Vesalius) installed in N.S.O.T and duly forwarded by Dr. P. S. Chandra, Officer In-Charge Neurosurgery Store.

The Molecular Resonance Generator was purchased against Tender No. 17/CNC/NS/13-14/ST and S.O. No. 1637/NS/CNC/2013-14 dated 31/03/2014 @ Rs. 94,29,094.00- (02 Nos.) from M/s Vishal Distributor, C-45, Fist Floor, Parsvnath Paradise, J.P. Garden Estate, Mohan Nagar, Ghaziabad -201007. All accessories_are approved in S. O. No. S. O. No. 1637/NS/CNC/2013-14 dated 31/03/14.

Now the Department of Neurosurgery has obtained quotation No. VD-160 REV1/PI/AIIMS/CNC/2014-15 dated 14/08/2014 from M/s Vishal Distributors. (Authorized distributor of M/s Visalius MC) Rates are as under:

		Qty.	Unit Price INR	Total Price INF
Sr. No.	Item Description	25 Nos.	60,533.33	15,13,333.00
1.	Medical Device- 2 Pin American bipolar	25 1403.		227.00
	cable, cable length 3m	10 Nos.	26,933.33	2,69,333.00
2.	Medical Device- Reusable neutral plate	10 1103.		And the second
	14v19cm cable length 3m	05 Nos.	47,800.00	2,39,000.00
3.	Madical Device- Single Pneumatic pedal	05 Nos.	1,60,240.00	8,01,200.00
4.	Medical Device- Bayonet bipolar forceps Non Stick AgCu for Neurosurgery (L-180mm	05 1103.		
	= 0 C mm1	05 Nos.	1,60,240.00	8,01,200.00
5.	Medical Device- Bayonet bipolar forceps Non Stick AgCu for Neurosurgery (L-180mm	05 1403.		
	1	05 Nos.	1,60,240.00	8,01,200.00
6.	Medical Device- Bayonet bipolar forceps Non Stick AgCu for Neurosurgery (L-165 mm	05 (102)	,	
		05 Nos.	1,60,240.00	8,01,200.00
7.	Medical Device- Bayonet bipolar forceps Non Stick AgCu for Neurosurgery (L-165mm	05 1405.		
		05 Nos.	1,60,240.00	8,01,200.00
8.	T- 0.6 mm) Medical Device- Bayonet bipolar forceps Non Stick AgCu for Neurosurgery (L-200 mm	05 1103.		
0 · 2 ·		05 Nos.	1,60,240.00	8,01,200.00
9.	T-0.1 mm) - Medical Device- Bayonet bipolar forceps Non Stick AgCu for Neurosurgery (L-200 mm	05 1105		
		05 Nos.	1,60,240.00	8,01,200.00
10	T-1.0 mm) Medical Device- Bayonet bipolar forceps Non Stick AgCu for Neurosurgery (L-220 mm	05 1403.		
	Non Suck Ages	76,30,066.00		
	T- 0.6 mm)		Total Vat 5%	3,81,503.30
	80,11,569.30			

Rs. Eighty Lac Eleven Thousand Five Hundred Sixty Nine and paisa Thirty only.

M/s Vishal Distributor C-45, First Floor, parsvnath Paradise, J.P. Garden Estate, Mohan Nagar, Ghaziabad-201007 has also submitted Authorization letter and Rate justification certificate.

File Submitted for the SPC.



Vishal Distributors

C-45, First Floor, Parsvnath Paradise, J.P. Garden Estate, Mohan Nagar, Ghaziabad-201 007

VD-160 REV/PI/AIIMS/CNC/2014-15

August 14, 2014

The Head,
Department of Neuro Surgery,
C.N Centre,
All India Institute of Medical Sciences,
Ansari Nagar,
NEW DELHI-110 029

Sub: Proforma Invoice for Consumables for MOLECULAR RESONANCE GENERATORs (Serial Number 802065024 & B02098024) supplied against Supply Order No. 1637/NS/CNC/13-14 Dated 31.03.2014

Dear Sir,

With reference to the above cited enclosed please find our offer, for the supply of consumable for MOLECULAR RESONANCE GENERATORs (Serial Number 802065024 & B02098024)

The offered rates are as per our original offer No. VD-492/TENDER/AIIMS/CNC/NS/17/2013-14 dated February 04, 2014 against which the referred supply order has been issued.

Thanking you

Yours faithfully, For VISHAL DISTRIBUTO

Authorized Signatory

Encls: as above



Vishal Distributors

C-45, First Floor, Parsvnath Paradise, J.P. Garden Estate, Mohan Nagar, Ghaziabad-201 007 (INDIA)

VD-160 REV1/PI/AIIMS/CNC/2014-15

August 14, 2014

*TOTAL

The Head,
Department of Neuro Surgery,
C.N Centre,
All India Institute of Medical Sciences,
Ansari Nagar,
NEW DELHI-110 029

Sub: Proforma Invoice for Consumables for MOLECULAR RESONANCE GENERATORs (Serial Number 802065024 & B02098024) supplied against Supply Order No. 1637/NS/CNC/13-14 Dated 31.03.2014

Proforma Invoice

Sr. No.	ITEM DESCRIPTION	QTY.	*UNIT PRICE INR	*TOTAL PRICE INR
1.	Medical Device - 2 Pin American bipolar cable, cable	25 Nos.	60,533.33	15,13,333.00
2.	Medical Device- Reusable neutral plate 14x18	10 Nos.	26,933.33	2,69,333.00
	cm cable length 3m	5 Nos.	47,800.00	2,39,000.00
3.	Medical Device - Single pneumatic pedal	5 Nos.	1,60,240.00	8,01,200.00
4.	Medical Device - Bayonet Bipolar Forceps NON STICK AgCu for Neuro- Surgery	J 1403.		
5.	(L-180 mm T- 0.6 mm) Medical Device - Bayonet Bipolar Forceps NON STICK AgCu for Neuro- Surgery	5 Nos.	1,60,240.00	8,01,200.00
6.	(L-180 mm T-1.0 mm) Medical Device - Bayonet Bipolar Forceps NON STICK AgCu for Neuro- Surgery (L-165 mm T-0.4 mm)	5 Nos.	1,60,240.00	8,01,200.00
7.	Medical Device - Bayonet Bipolar Forceps NON STICK AgCu for Neuro- Surgery (L-165 mm T- 0.6 mm)	5 Nos.	1,60,240.00	8,01,200.00
8.	Medical Device - Bayonet Bipolar Forceps NON STICK AgCu for Neuro- Surgery	5 Nos.	1,60,240.00	8,01,200.00
9.	(L-200 mm T-0.6 mm) Medical Device - Bayonet Bipolar Forceps NON STICK AgCu for Neuro- Surgery	5 Nos.	1,60,240.00	8,01,200.00
10.	(L-200 mm T-1.0 mm) Medical Device - Bayonet Bipolar Forceps NON STICK AgCu for Neuro- Surgery (L-220 mm T-0.6 mm)	5 Nos.	1,60,240.00	8,01,200.00
	(L -220 Hill 1- 0.0 Hill)	-1	Total Price	76,30,066.00

For Vishal Pistributors

Ancho) ed Signator

Scanned by CamScanner



C-45, First Floor, Parsynath Paradise, J P. Garden Estate, Mohan Nagar, Ghaziabad-201 007

VD-160 REV/PI/AIIMS/CNC/2014-15

August 14, 2014

The Head. Department of Neuro Surgery, C.N Centre, All India Institute of Medical Sciences, Ansari Nagar, **NEW DELHI-110 029**

RESONANCE MOLECULAR GENERATORs (Serial Number 802065024 & B02098024) supplied against Supply Order No. 1637/NS/CNC/13-14 Dated 31.03.2014

Compatibility Certificate

Dear Sir.

RESONANCE It is hereby declared that the consumables, for existing MOLECULAR GENERATOR, offered vide our aforesaid offer are the specifically designed & dedicated items of the principal manufacturer 'M/S TELEA ELECTRONIC ENGINEERING S.r.L, ITALY'. No other consumables of other manufacturers can be compatible with the existing systems.

The offered consumable items are supplied exclusively for our MOLECULAR RESONANCE GENERATOR range of products. These cannot be used in any other equipment. The standard warranty/CMC of main equipment is null & void if the spares/consumables/accessories which are not recommended by our principals are tried on our equipments as it is violation of CE norms.

Thanking You.

Yours faithfully,

For VISHAL DISTRIBUTORS

Authorized Signatory



Vishal Distributors

C-45, First Floor, Parsynath Paradise, J.P. Garden Estate, Mohan Nagar, Ghaziabad-201 007 (INDIA)

VD-160 REV/PI/AIIMS/CNC/2014-15

August 14, 2014

The Head,
Department of Neuro Surgery,
C.N Centre,
All India Institute of Medical Sciences,
Ansari Nagar,
NEW DELHI-110 029

Sub: Proforma Invoice for Consumables for MOLECULAR RESONANCE GENERATORs (Serial Number 802065024 & B02098024) supplied against Supply Order No. 1637/NS/CNC/13-14 Dated 31.03.2014

RATE CERTIFICATE

Dear Sir,

It is hereby certified that the items offered vide our aforesaid offer have, in recent past, not been supplied to any Govt. Department/ Institution at rates lower than offered to yourselves now.

Thanking You.

Yours faithfully,

For VISHAL DISTRIBUTORS

Authorized Signatory









ELETTRONICA BIOMEDICA E INDUSTRIALE

UNI EN ISO 9001:2000 **UNI CEI EN 46001**

FEBRUARY 02, 2015

THE CHIEF C.N CENTRE, ALL INDIA INSTITUTE OF MEDICAL SCIENCES, ANSARI NAGAR, NEW DELHI-110029 INDIA

REF: PROFORMA INVOICE NO. VD -160 REV/PI/AIIMS/CNC/2014 -15 DATED AUGUST 14, 2014 SUBMITTED BY M/s VISHAL DISTRIBUTORS, INDIA FOR CONSUMABLES RESONANCE GENERATORS (SERIAL NUMBER 802065024 & MOLECULAR B02098024) INSTALLED IN DEPARTMENT OF NEURO SURGERY.

DEAR SIRS.

- 1. WE M/S TELEA ELECTRONIC ENGINEERING S.R.L, VIA LEOPARDI, 23-36050 QUINTO VICENTINO LOC., VILLAGGIO M.TE GRAPPA-VI, ITALY DEALING IN DESIGN, MANUFACTURE AND DISTRIBUTION OF MOLECULAR RESONANCE GENERATORS DECLARE THAT M/S VISHAL DISTRIBUTORS, C-45 FIRST FLOOR, PARSVNATH PARADISE, J.P GARDEN ESTATE, MOHAN NAGAR GHAZIABAD-201007 (INDIA) ARE OUR EXCLUSIVE DISTRIBUTORS FOR INDIAN MARKET FOR THE GOODS MANUFACTURED BY US.
- 2. M/s VISHAL DISTRIBUTORS IS AUTHORIZED TO SUBMIT OFFERS ON OUR BEHALF. THEY MAY SUBMIT THEIR OFFERS IN INDIAN CURRENCY AS PER THE SITUATION DEMANDS.
- 3. WE ALSO DECLARE THAT THE QUESTIONED ITEMS ARE OUR PROPRIETARY ITEMS EXCLUSIVELY MANUFACTURED BY US FOR OUR MOLECULAR RESONANCE GENERATORS.

IN FAITH,

SIGNATURE

FOR TELEA ELECTRONIC ENGINEERING S.R.L

189/169

GIAMPALAO BORTOLAN

PRODUCT MANAGER

(Furma) Teles Frectronic Engineering Sri

Sede Legale: Via Zamenhof, 200 - 36100 VICENZA

Sede Operativa: Via Leopardi, 23 – 36050 QUINTO VICENTINO Loc. Villaggio M.te Grappa – VI-Uff. Commerciale: +390444239519 - +390444918179 - Uff. Amministrazione: +390444919322

FAX: +390444914319 E-mail: info@vesalius.it - http://www.vesalius.it

Codice Fiscale e Partita I.V.A. 01969870243 - Cap. Soc. Euro 63.191,08 I.V. - Reg. Impr. N. 21604





FEBRUARY 16, 2015

THE CHIEF
C.N CENTRE,
ALL INDIA INSTITUTE OF MEDICAL SCIENCES,
ANSARI NAGAR,
NEW DELHI-1 10 029
INDIA

REF: PROFORMA INVOICE NO. VD-160 REV1/PI/AIIMS/CNC/2014-15 DATED AUGUST 14, 2014 SUBMITTED BY M/s VISHAL DISTRIBUTORS, INDIA FOR CONSUMABLES FOR MOLECULAR RESONANCE GENERATORS (SERIAL NUMBER 802065024 & B02098024) INSTALLED IN DEPARTMENT OF NEURO SURGERY.

CERTIFICATE CONFIRMING PROPRIETARY NATURE OF ITEMS

DEAR SIR,

IT IS HEREBY CERTIFIED THAT THE CONSUMABLES, FOR EXISTING MOLECULAR RESONANCE GENERATORS, OFFERED VIDE OUR AFORESAID OFFER ARE THE PROPRIETARY ITEMS MANUFACTURED EXCLUSIVELY BY US I.E. 'M/S TELEA ELECTRONIC ENGINEERING S.R.L, ITALY'. NO OTHER CONSUMABLES OF OTHER MANUFACTURERS CAN BE COMPATIBLE WITH THE EXISTING SYSTEMS.

THE OFFERED CONSUMABLE ITEMS ARE DEDICATED ONES AND ARE SUPPLIED EXCLUSIVELY FOR OUR MOLECULAR RESONANCE GENERATOR RANGE OF PRODUCTS. THESE CANNOT BE USED IN ANY OTHER EQUIPMENT. THE STANDARD WARRANTY OF MAIN EQUIPMENT IS NULL & VOID IF THE SPARES/CONSUMABLES/ACCESSORIES WHICH ARE NOT RECOMMENDED ARE TRIED ON OUR EQUIPMENTS AS IT IS VIOLATION OF CE NORMS.

IN FAITH,

MR ARNALDO POZZATO LEGAL REPRESENTATIVE

FORTELLA ELECTRONIC ENGINEERING S.R.L





FEBRUARY 16, 2015

THE CHIEF
C.N CENTRE,
ALL INDIA INSTITUTE OF MEDICAL SCIENCES,
ANSARI NAGAR,
NEW DELHI-1 10 029
INDIA

REF: PROFORMA INVOICE NO. VD-160 REV1/PI/AIIMS/CNC/2014-15 DATED AUGUST 14, 2014 SUBMITTED BY M/S VISHAL DISTRIBUTORS, INDIA FOR CONSUMABLES FOR MOLECULAR RESONANCE GENERATORS (SERIAL NUMBER 802065024 & B02098024) INSTALLED IN DEPARTMENT OF NEURO SURGERY.

DEAR SIRS,

- 1. WE M/S TELEA ELECTRONIC ENGINEERING S.R.L, VIA DA VINCI, 13, 23-36066 SANDRIGO -VI, ITALY DEALING IN DESIGN, MANUFACTURE AND DISTRIBUTION OF MOLECULAR RESONANCE GENERATORS DECLARE THAT M/S VISHAL DISTRIBUTORS, C-45 FIRST FLOOR, PARSVNATH PARADISE, J.P GARDEN ESTATE, MOHAN NAGAR GHAZIABAD-201007 (INDIA) ARE OUR EXCLUSIVE DISTRIBUTORS FOR NORTH INDIAN MARKET FOR THE GOODS MANUFACTURED BY US.
- 2. M/s VISHAL DISTRIBUTORS IS AUTHORIZED TO SUBMIT OFFERS ON OUR BEHALF. THEY MAY SUBMIT THEIR OFFERS IN INDIAN CURRENCY AS PER THE SITUATION DEMANDS.
- 3. WE ALSO DECLARE THAT THE QUESTIONED ITEMS ARE OUR PROPRIETARY ITEMS EXCLUSIVELY MANUFACTURED BY US FOR OUR MOLECULAR RESONANCE GENERATORS.

IN FAITH,

MR ARNALDO POZZATO

LEGAL REPRESENTATIVE

FOR TELEGYRONIC ENGINEERING S.R.L

Rev. 0







TELEA ELECTRONIC ENGINEERING Srl Address: Via L. Da Vinci, 13 – 36066 Sandrigo (VICENZA) - ITALY Sales Dept.: +39 0444 239519 Account Dept.: +39 0444 919322 Fax.:+39 0444 914319

E-mail: <u>info@teleamedical.com</u> - Web site: <u>www.teleamedical.com</u> VAT and tax number 01969870243 - Share € 119.600 LV. Companies Register: 01969870243-RFA-VI 197060

Scanned by CamScanner